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INSTRUCCIONES PARA LA REALIZACIÓN DE ESTA PARTE: 

  
DURACIÓN: 45 minutos 

 Esta parte consta de tres tareas. Las grabaciones de las dos primeras tareas se oirán dos 
veces, la de la tercera solo una vez. 

 Escuche y lea las instrucciones al principio de cada tarea y realícela según se indica. 

 Las respuestas escritas a lápiz o en rojo no se calificarán. 

 No escriba en los recuadros sombreados. 
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TASK 1 (8 x 1 mark = 8 marks) 
You will hear part of a programme. Choose the option (a, b or c) that best 
completes the sentences according to what you hear and write it in the 
corresponding white box. Sentence 0 is an example. Now read the 
sentences. 

 MARK 

  
 

 

 

 

DUDE 
A discussion about the origins and use of the term ‘dude’  

 

0. The presenter is against ‘gender neutral’ terms because  
a) normally they are masculine. 
b) they are offensive. 
c) they don’t distinguish between genders. 

 

a 
 

 

1.  The clothes-related origin of the term from centuries ago    
a) is a convincing explanation. 
b) is related to its macho man connotation. 
c) seems unlikely. 

 

 

 

 

2. In the 1880s the term ‘dude’ was 
a) first used in a song. 
b) spelt the same as now. 
c) used for men who cared about clothes.  

 

 

 

 
 

3. When people from the East Coast went to ranches 
a) butch cowboys didn’t like them. 
b) the connotation of ‘dude’ remained the same. 
c) the meaning of ‘dude’ transformed. 
 

 

 

 

4. Black Americans used ‘dude’ to refer to  
a) a style of music. 
b) each other. 
c) Mexican Americans rather than themselves.   
 

 

 

 

5. In the film Easy Rider in the 60s, the meaning   
a) is clarified by one character.    
b) was still ‘outsider’ or ‘tourist’.   
c) was the same as in the 50s. 

 

 

 

6. In 70s and 80s films, like Fast Times at Ridgemont High, ‘dude’ is  
a) another term for ‘surfer´. 
b) associated with a relaxed lifestyle. 
c) used as an insult. 

 

 

 

 

7. Linguistics professor Scott Kiesling’s research on the usage of ‘dude’ 
a) had surprising results. 
b) focused on students’ use of the term. 
c) looked at who used it to talk to whom. 

 

 

 

 

8. The study highlighted how 
a) ‘dude’ is used as an offensive term. 
b) language is used to bond socially. 
c) the use of ‘dude’ is changing. 
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TASK 2 (9 x 1 mark = 9 marks)  
You will hear part of a programme. Read through the notes below and 
complete them by filling in the gaps with the exact words you hear (1 or 
2 words). Gap 0 is an example. Now read the notes. 

 MARK 

  

 
 

 

HOW TO MAKE FASTER DECISIONS 

Patrick McGinnis gives advice on overcoming FOBO (Fear Of a Better Option) 
 

Nowadays, our world includes     OVERWHELMING___ [0] options. 
 
 

 

Just to buy a simple object, you have to sort through tons of items, reviews and that 

is a/an ________________________ [9] amount of information. 

  

 

 

Collecting and preserving a wide variety of options to choose from can be bad, and 

it seems counter-________________________ [10]. 

  

 

 

Making decisions, you first determine the stakes, which will give you information 

about your ________________________ [11] strategy. 

  

 

With no-stakes and thousands of options, the consequences of choosing one are, 

basically, ________________________ [12].  

  

 

Low-stakes decisions have consequences, although they are not earth-

________________________ [13]. 

  

 

 

Along with outsourcing decision-making, you really need some 

________________________ [14] involved. 

  

 

When the stakes are high and decisions have long-term ____________________ 

[15], we need to get the right one. 

  

 

The nature of FOBO implies that, no matter what you choose, the 

________________________ [16] will be minor. 

  

 

If you get stuck, you can get help to make the final decision by engaging a group 

of, ideally, an odd number of people to ensure a ________________________ [17] 

tiebreaker. 
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TASK 3 (8 x 1 mark = 8 marks) 
You will hear several people talking. After each extract, write the option  
that best summarizes what you hear. YOU WILL HEAR THE EXTRACTS JUST 
ONCE. Extract 0 is an example. Now read the headings. 
 

 MARK 

  
 

 

Note: There is one heading you will NOT need. 

 

BBC REPORTS 
Listen to several radio news reports 

 

A Digital rights are an issue 

B Fair child sharing process 

C Hesitant to donate 

D Imposed donations controversy 

E No homeland, high risks 

F Online threats 

G Orphans have fewer problems 

H Prices modify attitudes 

I Simulated spaceship trip 

J Successful crime mapping 

 
 

 

  [18] [19] [20] [21] [22] [23] [24] [25] 

EXTRACT 0 1 2 3 4 5 6 7 8 

LETTER I         

          

 


